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Note : Answer any ten questions.

1.
(a)
(b)
(c)
(d)
(e)
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Do you agree with the following statements ?
Give reasons for your answers.

Tables are best learnt by repetition through
Jjoyful singing.

The teacher must introduce children to any
concept by giving its definition.

The product of two fractions can be larger
than either of them. :

If a train, on an average, is 15 minutes late,
a person who wants to catch it can reach the
station up to 10 minutes after the scheduled
time.

Normally distributed data has at least two
modes.
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2. (a)

(b)
3. (a)
(b)
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What would a learner in Class VII be
expected to have learnt about ‘median’, if
her teacher had followed :

(i) The banking model

(i) The constructivist model

What does the ability to conserve mean ?
Give an activity to assess whether or not a
child has acquired the ability to conserve
volume. Further, would a child with the
ability to conserve volume also have the
ability to measure volume ? Give reasons for
your answer.

What is an algorithm ? Give an algorithm
for the division of one fraction by another.
In this context, also explain the difference
between learning the concept and learning
the algorithm.

What do each of the following mean ?
Explain them, also giving an example of
each :

(1) Glide symmetry

(i1) The process of disproving



4.

5.

6.

(a) Give a divisibility rule for 11. Also give the

mathematical logic behind why the rule
works. 4

(b) Which of the following would happen in a
constructivist classroom ? Give reasons for
your answers. 6

(i) Children are making shapes of their
choice using tangrams.

(ii) Children are given a problem and its
solution by the teacher. They are given
similar problems to do as homework.

(iii) Children of Class 4 are given a lot of
things and asked to group them in
different ways based on different
criteria used.

(a) (i) What is a mathematical statement ?
Give one example of this.

(ii) What is a mathematical proof ? Prove
that the sum of two odd integers is an
even integer. 6

(b) Give the stages involved in the process of
‘scaffolding of learning’ and illustrate them
in the context of teaching children how to
read a map. 4

Contrast the programming and the
constructivist models of learning regarding the
following aspects, in the context of the learning

of place value. 10
(i) What has to be learnt ?

(ii) What would children be doing ?

(iii) How would learning be supported ?

(iv) What would be the purpose of assessment ?
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7. (a)
(b)
8. (a)
(b)
9. (a)
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Solve the problem below :

There are five siblings in a family that
collectively earn & 2,000 per week. The sum
of the ages of two of the siblings is 40 and the
product of their ages is 351. Find the ages of
these two siblings.

While solving this problem, write down the
stages you have gone through according to

Davis and Mayer.

Give a situation from your surroundings that
requires the measurement of uncertainty,

with justification.

What does the statement ‘Children learn by
experiencing things’ mean ? Your
explanation should include .an example

from the area of spatial understanding.

Describe a series of three activities to help a
class of 30 children improve their

understanding of a process diagram.

Explain using examples from the addition
of decimal fractions, what is meant by

assimilation and accommodation.



(b)

10. (a)

(b)
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List two common misconceptions children
have regarding representing 3D in 2D.
Suggest an activity to help the children
overcome any one of these. Further, list
three features of a good activity that are in
the activity you have suggested, with

justification. 6

The frequency table for the heights of
students in a class is as below :

Height (in cm) No. of Students
98 — 102 2
103 — 107 6
108 — 112 11
113 - 117 5
118 -122 3

(i) Represent this data in two different
ways.

(ii) Give three concepts, not related to data
handling, that children of Class V can
learn, using these representations.
Justify your choice of concepts. 8

Give an example of the process of moving from
general to particular. 2
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11. (a)

(b)
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Explain the need for children to develop the
ability to estimate. Your explanation should
include an example from the subtraction of

fractions.

How many different regular polygons are
there ? How are these polygons related to a

circle ? Justify your answers. Further, give

- two patterns you have noted while

answering these questions.
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